H & 0l & AHS B Ml A

20248 =0ila eI SAIXIS 0

SA: SXIKIR D
33 od=Nsd
el -0l gi=sst s 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXIX2 96,559,422 88,671,750 7,887,672
= 60,876,474
[ 3,069,297
Il 959,484
< 5,633,253
= 26,030,914
(GESEINEFN 5,969,601 2,710,148 3,259,453
= 3,955
s 750,000
Il 959,484
= 504,254
[Ea 3,751,908
g0l =t us 29 166,050 240,634 INT4,584
= 35,000
o 131,050
OdEH, II22d A& 26,050 24,800 1,250
201 fer= 3| 8,950 7,700 1,250
01 At 2|l 6,250 5,000 1,250
OZEt=EH| 1,500
OUEZHLI A A= (UH)
100,000&x10E 12l 1,000
OLHBST2H JIGA BRI = 72
125,000 *30 3,750
03 &A=& 2,700 2,700 0
O33J12 AU=EWY SEWS
900,000 %12 900
OHOITN MBS &4 NS 5
450,000 42 1,800
203 HR=AH] 1,500 1,500
03 A= LR F&IH| 1,500 1,500
o gy F=atl 1,500
301 EetE NS 600 600
11 #AIAHIXIE S 600 600
ONWdXNEA WE S 2o XN
50,0002 12 600
307 elztol & 15,000 15,000
11 AMEISXAEEE 15,000 15,000
OLNd=2odeMEg s 2SN 15,000
H4ctMEelsl etiks M=zl 15,000 15,000
307 el2to| & 15,000 15,000
04 QIZIHAIALE 2 & 15,000 15,000
OWd=HHMElal eits M=UHal 15,000
g STAAA 10,000 10,000 0
307 21201 & 10,000 10,000
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2A:

SXIXIZ 4

M d=EXSE
o2l g0l =8 s 29 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OOIHOHENIZI0IEHE D) 29
500,000 & *53] 2,500
& 625
i 1,875
OLHEBESZ3t SAAIA
1,000,000 53| 5,000
= 1,250
2 3.750
OJI=FE T2 2
150,000 40t Z+23] 12,000
& 3,000
i 9,000
oo4&eld otdionl 24
50,000 =15 *153] 11,250
= 2,812
2 8,438
OAATEOE MRLSIIITIZA
500,000& 20 10,000
& 2,500
i 7,500
014 DU HEY 2E3
5,000,000+ 13] 5,000
= 1,250
2 3,750
O0I& S 0PFIH0| 2
1,000,000 & *33! 3,000
& 750
[ 2,250
301 LB F 16,800 21,800 A5,000
= 4,200
= 12,600
02 MBI 2EHES(FHUAHNS, NSTHA) 10,000 0 10,000
ossksk S N2
40,0003 x250H 10,000
& 2,500
= 7,500
11 HAIAHIXIAZ 800 1,800 A1,000
OWAZ2EAl S Baz K=
20,0003 x20F +23 800
& 200
= 600
14 JIEt2 43 6,000 5,000 1,000
O=IFNE s+
20,0002 *40H +53] 4,000
& 1,000
i 3,000

w
|




SA: SXXAD
Hu: GH=XSE

el -0l gi=sst s 29 (SH9 H2)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

ORLZOIRC HA 1,000
250
750

M H

100,000& x5 & #22 1,000
250
750

M

307 212t01™ 3,000 5,000 22,000
750
2,250

A H

02 QI EANEE X 3,000 5,000 22,000
OXIYAIE] HEEs(A2Y) X
1,000,000 3 2 3,000

750

2,250

UMY

401 AIEHIZL 2 0HYI 25,000 30,000 25,000
13,750
11,250

M

01 Al&H| 25,000 30,000 25,000
Oondelst B2t &4 10,000

10,000

in

15,000,000 * 104 15,000
3,750
11,250

M H

SHR2IIEXIE 748,742 706,600 42,142
545,234
88, 181
115,327

S

EUNGY

SIRZIIETE 2=l S NE A 678,214 634,750 43,464
542,572
67,821
67,821

S

M

301 2 &= 678,214 634,750 43,464
542,572
67,821
67,821

S

M

S(ZDEBEMS) 678,214 634,750 43,464
2d=HISKE 678,214

542,572
67,821
67,821

S

M

FLHSRE OlsYE & NEAE 3,328 4,650 N1,322
Il 2,662




2A:

SXIXIZ 4

zij; gii§§%% EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

= 200
= 466

301 LetENEZ 3,328 4,650 A1,322
| 2,662
= 200
= 466

01 ASIBEXHZ2(2DEXTHA) 3,328 4,650 A1,322
OFAHSED XA A 3,328
| 2,662
= 200
= 466

SIRRIIE N XSS XA 61,400 61,400 0
= 18,420
= 42,980

301 LetENEZ 61,400 61,400 0
& 18,420
i 42,980

02 MBI EZASHS(HAUAS, XLTHA) 61,400 61,400 0
OMASERRIEXA 61,400
OHgAZHI XA 400,000 *130I CH 52,000
& 15,600
= 36,400
(OFE=JNI=I=JNF.| 3,000,000 *2Ai| CH 6,000
= 1,800
= 4,200
OzZ2eldl X 100,000 *5AI CH 500
& 150
i 350
OXg=ddIXI& 500,000 15 500
& 150
i 350
OYUAEXHHESHI XA o 0 0
& 720
i 1,680

OIEstR2I1E XHEXIE (XA 5,800 5,800 0
= 1,740
= 4,060

301 LBBNZ 5,800 5,800 0
= 1,740
= 4,060

02 MBI EEHGS(HUAS, NLTHEA) 5,800 5,800 0
OOIEZ2I=EEXA 5,800




2A:
X XH -
o e

el

SXIXIZ 4
od=Xsd

SRRl

SA - Z3F - SRA(E) - HRAEY

- ESS

Ofl &F2H

MEE
Ofl &k2h

oaol

rio

O AE A

(AR Sy A}

2 AHIXIA

0l

1,000,000& 1

O
=
ron
o
il
0
o
J

NEEESIWE

50,0003 6 * 122

O
=]
I
o
i
Ho
S
It

LS

1,200,000& 1

A M

M

1,000
300
700

3,600
1,080
2,520

1,200
360
840

=Tt

UMY

4,322,109
3,955
750,000
75,820
272,283
3,220,051

1,129,700

3,192,409

FAERE OtS2=F0 A& At

MW

7,909
3,955
1,186
2,768

14,400

A6,491

Mo W

7,909
3,955
1,186
2,768

26,491

H H W

7,909
7,909
3,955
1,186
2,768

14,400

26,491

S

MO

141,280
70,640
35,320
35,320

141,280

307 212t01™

S

M

141,280
70,640
35,320
35,320

141,280

S

UMY

141,280
141,280
70,640
35,320
35,320

141,280

»
|




2A:

SXIXIZ 4

33 od=Nsd
chel: ALIIERL X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEZS2EAE SAR JIZ2s 32,730 32,730 0
= 6,547
= 26,183
307 el2to| & 32,730 32,730 0
= 6,547
[Ea 26,183
10 AlISAAZEE 22X 32,730 32,730 0
ONWd=HAHANE SAA JIE2 32,730
s 6,547
s 26,183
IHEEANYAS AR 10,400 10,400 0
& 3,120
= 7,280
301 LEtE NS 10,400 0 10,400
= 3,120
o 7,280
02 A2 A LGS (FHAAHS, NSWE) 10,400 0 10,400
OIIEZH UG AT A= X2 10,400
= 3,120
o 7,280
IHEEANYEA SAAL IS g 1,440 1,440 0
301 22N 1,440 0 1,440
02 ANRI2HHSHS(HAAS, NLHE) 1,440 0 1,440
OAMBIZXIAEEAR ABIZ XA 24 e
A& 30,0002 x4 * 122 1,440
JHIEEH1IchA Xzels228 2 2/gH| K& 7,400 7,400 0
Jl 5,180
[ 1,110
T 1,110
307 elztol & 7,400 7,400 0
Il 5,180
== 1,110
o 1,110
11 AMRISXAEEES 7,400 7,400 0
Ol XSS IH2E X 7,400
7l 5,180
= 1,110
o 1,110
OIS 28 TIHH 8 4,050 4,050 0
307 212+01& 4,050 4,050
10 Al2ISTIAIEEE 22X 4,050 4,050
O%II0Y 2s LHHd 28 K& 4,050
Ols - e otd =Etel 2 16,900 18,000 21,100
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X XH -
o=

SXIXIZ 4
od=Xsd

chel: ALIIERL X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,500 2,376 ABT76
03 Ar=EHI 1,500 2,376 ABT76
O0ls. 08t ZSEtel 298 JEdst 1,500
301 LEtE N = 15,400 16,624 N224
14 DBt 2 a3 15,400 15,624 N224
O0ts.0{getd =ttel 284 15,400
IIEEHEAEAIE 1,500,000 900,000 600,000
[ 750,000
= 225,000
Ea 525,000
401 AIEHIX 20HH 1,500,000 900,000 600,000
[ 750,000
= 225,000
= 525,000
01 Al&H| 1,500,000 900,000 600,000
OIISHEHAE SAtHI 1,500,000
= 750,000
< 225,000
s 525,000
JIE LA AL (XEH) 2,600,000 0 2,600,000
401 AIEHIX SO 2,600,000 2,600,000
01 Al&H| 2,600,000 2,600,000
OIIEHEHAAIY (202E SEXZNFS) 1,000,000
OJIEHHAZ AL 1,600,000
AZ0HE G202 732,700 633,214 99,486
Il 338,430
= 108,790
o 285,480
JIEHEH 28 501,566 350,160 151,406
Il 250,783
= 75,235
Ea 175,548
307 el2to| & 501,566 350,160 151,406
) 250,783
= 75,235
= 175,548
05 2IHRIE S 501,566 350,160 151,406
OJIE4H 29 501,566
Il 250,783
< 75,235
= 175,548
JIBHE SAEL = XI& 15,600 15,600 0




2A:
T ZH -
o e

Sk

STIXI D
REEHNESS
AN CH2EIIERI

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

4,680
10,920

M H

15,600
4,680
10,920

15,600

UMY

15,600
15,600

4,680
10,920

15,600

3,240

3,240

3,240

3,240

30,

g

2B 12E

3,240

3,240

3,240

S

M

175,294
87,647
26,295
61,352

198,583

N23,289

307 212t01™

S

Mo

175,294
87,647
26,295
61,352

198,583

N23,289

11 ARIEXAIEE X

OUIsts XtH doizge XA

OZ&E0|2X SHAMHIA XIS

S H N H N X

UMY

S

UMY

175,294
40,590
20,295

6,089
14,206
20,000
10,000

3,000

7,000
34,100
17,050

5115
11,935

80,604
40,302
12,091
28,211

198,583

N23,289

o

0x
I

ZE0I8X CH2IEEXIAHE I

M H

8,600
2,580
6,020

9,717

AT1,117

<o)
|




A SXXE 0
2 Hd=1sd

ol HIIE. 2SS (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 8,600 9,717 AT 117
= 2,580
= 6.020
11 AMEISXAIEEXS 8,600 9,717 A7
O EZ=0121A+ LH22EXIRME IE 8,600
= 2,580
o 6,020
HeZE0I2IX & HEZ AR (XEA) 5,000 5,000 0
307 212+01& 5,000 5,000
11 AMRISXAEEES 5,000 5,000
OulEl - HE 23tHE 5,000
CtEshts ol2g B0t 9,000 9,000 0
307 glztol & 9,000 9,000
11 AMEISXAEEES 9,000 9,000
OLt=3IE 0l=8 etitd 9,000
ChEsts d=gt st 29 14,400 10,000 4,400
307 gl2to| & 14,400 10,000 4,400
04 QIRHHAMAIH 2 £ 14,400 10,000 4,400
odgsst st 24 14,400
LeI=EXsd 76,345,221 72,193,514 4,151,707
= 53,452,440
[ 2,309,297
= 3,698,204
o 16,885,280
LoIsX=g3] 2,300 3,700 1,400
COISAHE R 2,300 3,700 1,400
201 fer= 3| 1,800 3,200 1,400
01 AtR2tc|HI 1,800 2,200 A400
OLQSTL0F ARBE L A2 79 600
OL Q=TS0 212 PIErAOISIAE| AAS
EH(tHe) 100,0003 8 *13] 800
ORI NFHAARE FHLL(H
2) 50,0002 x8H*13] 400
203 =2l 500 500
03 A=A PR FZ| 500 500
OL2=IAE 20 g% =& 500
L= AS2E HE 62,956,306 57,691,453 5,264,853
= 53,056,041
S 2,367,914
o 7,532,351
=3 Na 54,519,596 51,399,284 3,120,312
= 49,067,636
= 1,090,392
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SXIXIZ 4

Hu: Lol=X =X
Bel: 2 ASEH 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 4,361,568
301 EtE NS 54,519,596 51,399,284 3,120,312
= 49,067,636
= 1,090,392
= 4,361,568
01 Al EE AT Z(2DEXR) 54,519,596 51,399,284 3,120,312
OPJESUES) 54,519,596
= 49,067,636
& 1,000,392
= 4,361,568
colgiiel & ASIESXIZAY 2 7,976,810 5,791,931 2,184,879
= 3,988,405
< 1,196,522
s 2,791,883
101 @124H| 458,932 427,285 31,647
= 229,466
== 68,840
[Ea 160,626
03 SRA(RIH L) 222+ 27,206 22,285 4,921
OoledXie] X AESAFAY dgee
(S2) 27,206
= 13,603
== 4,081
o 9,522
M ORIMZZ2NSE S 431,726 405,000 26,726
Oelgiiel ¥ AR 2SXI2 A 431,726
= 215,863
== 64,759
o 151,104
201 el 3,900 4,500 2600
= 1,950
== 585
o 1,365
01 At22t2l] 3,900 4,500 2600
OoledXie] X AESXFAY 2UBH| 3,900
= 1,950
= 585
o 1,365
WM HsEE=S 4,848 6,542 A1,694
= 0,424
= 27
o 1,697
M SRA(RIHL) 22X BEERE=3 S 4,848 6,542 1,694

_11_
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2A:

SXIXIZ 4

Hu: Lol=X =X
elr 2 222 g4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol 29 X 61,000 61,000 0
307 elztol & 61,000 61,000 0
11 AMEISXAIEEXE 61,000 0 61,000
ot 82X RL el a 40,000
oug¥==Us 12,000
Ozlst=oltyst 9,000
ANESAKNER B85 A 143,000 112,822 30,178
307 212+01& 143,000 110,000 33,000
11 AMEISXAEEES 143,000 110,000 33,000
OL0lENE U S 25 U
200,000 x32E « 12 76,800
o3dz4 3 50,0002 *331H *43] 66,200
OIS ESSMEIAAMG X 3,302,590 3,211,890 90,700
[ 2,193,121
= 306, 165
o 803,304
oI ESESMEIAAY K& 3,133,030 3,049,890 83,140
= 2,193,121
S 281,973
= 657,936
307 lztol & 3,133,030 3,049,890 83,140
= 2,193,121
< 281,973
[Ea 657,936
11 AMEISXAEEES 3,133,030 3,049,890 83,140
O QX E==SAHIAAE XA 3,133,030
s 2,193,121
s 281,973
s 657,936
OIS EESMHIA MBS MRME X 48,600 162,000 A113,400
301 LELE NS 48,600 0 48,600
02 A2 EH LGS (FHAAS, NWE) 48,600 0 48,600
O IXESSAHIA HEesE MR
30,0002 x 135« 123 48,600
LOIXESSMEIA SAK S - S4Hl K& A 120,960 0 120,960
= 24,192
o 9%,768
301 EtE NS 120,960 0 120,960
== 24,192
o 96,768
02 AR E2E AT S(FIANS, XLETHE) 120,960 0 120,960
OLQXEZESSAMHIA SAHL WS - SAlt|
A& Ak 120,960




A SXXE

Hu: Lol=X =X
el LOIStE=SAMHIAAE XIE (CH9: /M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,192
s 9,768
LoloE & MIOt=QISXIAIE X 6,004,426 5,671,927 332,49
= 7,160
== 757,153
= 5,240,113
oo FXIAIE 22| 1,713,554 2,075,256 A361,702
= 291,304
= 1,422,250
301 EtE N = 1,713,554 2,075,256 A361,702
= 291,304
Ea 1,422,250
02 AR 2HHSFS(HAAS, XNLHE) 1,713,554 0 1,713,5%4
OX XA SEHUE S 1,686,482
=S 286,702
s 1,399,780
OLQIoZEXANE (SSAR) 27,072
< 4,602
s 22,470
Mot IS XIAIE 23| 3,508,577 3,198,631 309,946
= 360,858
Ea 3,157,719
301 EtE NS 3,508,577 3,198,631 309,946
=S 360,858
s 3,157,719
02 ARSI 2E A S(FIANS, XLETHE) 3,508,577 0 3,508,577
OXIZAXIEH SEHUE =S 3,279,140
< 327,914
[Ea 2,951,226
OMII=IXN MBI A 2 229,437
= 22,944
o 206,493
COSXAE SAHsE XIE 366,600 273,000 93,600
=S 109,980
s 256,620
301 EtE NS 366,600 0 366,600
< 109,980
[Ea 256,620
02 AL 2EH LGS (FHAAHS, W) 366,600 0 366,600
OLQ=XAIE SALA =&
2,600,000& 141 366,600
= 109,980
= 256,620




2A:

SXIXIZ 4

HH: LoI=X|SA
ool LoIoZ o MIH-QI=RIAIL K (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LRIZEXAE AMIASEXAL A=Y 45,000 39,600 5,400
301 LEtE N = 45,000 0 45,000
02 ARSI 2EH 2GS (HAAHS, W) 45,000 0 45,000
OLQFXAIE ARASXIA AHF =&
30,0002 x 125 123 45,000
R XM2MEXZ 31,375 37,040 Ab,665
201 et 3| 1,875 0 1,875
01 At 2|l 1,875 0 1,875
OFIILALE T M
125,000& %15 1,875
301 EtEE S 19,500 32,040 A12,540
02 MBI 2HHSFHS(HAANS, XLHE) 19,500 32,040 A12,540
OXIMNEZRAES AL XIHLSH X
60,0002 %100 6,000
ORYLDSA H2XE 30,0002 450 13,500
307 @12t01 & 10,000 5,000 5,000
04 QIZHHAMAIH 2 £ 10,000 5,000 5,000
OXIIQURY AU A3S
10,000,000 * 12l 10,000
DT ISIIAIE RA ull 325,000 25,000 300,000
201 er23 | 10,000 10,000 0
2 s5=4g4l 10,000 10,000 0
OZE=oedd 333(8II,&531,2
% s) 10,000
401 Al HIZ S OHbI 265,000 15,000 250,000
01 A28l 265,000 15,000 250,000
O3BANE=E BIIEZE 9
2,500,000& *3 A*23] 15,000
ONEZXMNEZ2LYA HES 250,000
405 AHatE S 50,000 50,000
01 ML ESFSHI 50,000 50,000
OUNEZXNNE2RYH 28=5 7Y 50,000
OolsgAHx 7,700,000 =2CH 15,400
OAMIEDI 3,000,000 *5CH 15,000
OZ Ao 200,000 »25CH 5,000
OIMHIA 145,000 = 124 1,740
O&FFH 1,556,000 *5CH 7,780
O=ZLUIH 340,000 *5CH 1,700
OZelE 220,000 4CH 880
OzoE it 1,250,000 *2CH 2,500
VT2 SIIAE EXAS 14,320 0 14,320
= 7,160
[ 5,011
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54,508
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307 212t01& 218,032 190,586 27,446
109,016
54,508
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HoH A

11 ARRIS XA E X 218,032 190,586 27,446
O=HEQl - Z0He! SSHE A AHIA 218,032

109,016
54,508
54,508

Mo A
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31,072
72,688
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=52 (HAAHNE, NLTHH) 69,440 69,440 0
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Hu: Lol=X =X
SOl TOH=Ol =XEX (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 34,320 34,320 0
= 10,250
= 24,070
11 AMEISXAIEEXS 34,320 34,320 0
ORI ZAFY XIJ 34,320
= 10,250
o 24,070
THOH= QIR R (KEAI) 65,000 71,000 26,000
307 212+01& 65,000 65,000 0
11 AMRISXAEEES 65,000 65,000 0
OMASZALQl AAH(SA) S A 65,000
ColHA A 2,000 2,000 0
301 EtE NS 2,000 2,000
02 ARSI 2EH 2GS (FHAAHS, W) 2,000 2,000
OLolAdAE 200,000& 10 2,000
ETANE 2N SSHEEIHE N&H 21,700 24,800 A3,100
307 gl2to| & 21,700 24,800 A3,100
1 AMISXAIEEXS 21,700 24,800 A3,100
OEZAM=NEN sSd8EIIE 244 N&
3,100,000 77K 2= 21,700
=ty 23 46,600 21,600 25,000
201 =3 6,000 6,000 0
01 At22telt] 6,000 6,000 0
od=sdcHy 2| 500,000& 122 6,000
301 EtE NS 15,600 15,600
14 IIEt2d3 15,600 15,600
odgele FFEU 100,000& « 13 *12& 15,600
401 AIEHIX R0 25,000 25,000
01 A28l 25,000 25,000
ONFH dFEHS LIS 25,000
RIS XIAIE K& 3,152,971 4,685,654 1,632,683
= 396,399
= 180,080
o 2,576,492
d2g 23l K& 699,600 648,000 51,600
== 56,760
o 642,840
307 212+01™ 699,600 648,000 51,600
[ 56,760
T 642,840
10 AlRISTIAIEEE 22X 435,600 388,800 46,800
oZ=zd 24| 435,600
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OZ2Y Tz | 264,000
& 13,200
i 250,800
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= 396,39
& 118,920
i 277,479
301 LEHBEF 137,034 138,414 21,380
= 68,517
& 20,555
= 47,962
01 A BE X2 (ZREETA) 137,034 138,414 21,380
22 224 K& 137,034
= 68,517
= 20,555
= 47,962
307 QI2tol A 655,764 528,790 126,974
= 327,882
= 98,365
o 229,517
10 IS SXAIEHE2ZHIEX 655,764 528,790 126,974
OZ=2Y el K& 639,214
= 319,607
= 95,883
= 223,724
OZ=2Y ¢yl K& 16,550
= 8,275
= 2,482
= 5,793
22 & Oi=32 &3 W2+ 1,428,000 3,154,000 21,726,000
401 AIEHIZL 28I 1,428,000 3,154,000 21,726,000
01 Al&Hl 1,418,000 3,144,000 21,726,000
OZ2Y &= 720,000
O1n4g SUEzY &Mx 20,000
OgsH GRIZ2YE &= 650,000
OatiatH XA 2Y M= 50,000
Od=zY M2+ 498,000
OtfaH HAAZ2Y 2= 60,000
Ool0IH 232 e+ 50,000
OololH MEHZE HES 20,000
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S ZOAI=XA
ol Z0He XIEA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,020
s 1,530
oS SKI2AMY 20 XIS 3,901,759 3,597,543 304,216
= 2,731,231
< 361,158
= 819,370
308 XXM SOIA 3,901,759 3,597,543 304,216
= 2,731,231
== 361,158
o 819,370
13 SI[2S0He 4 A AS A 3,901,759 3,597,543 304,216
OS2 A 3,901,759
= 2,731,231
=S 361,158
s 819,370
BSEX SN 66,841 26,100 40,741
= 46,789
= 6.015
o 14,037
308 AtXIEMSOIE 66,841 26,100 40,741
= 46,789
= 6,015
Ea 14,037
183 S| 2SS SHAEAIE 66,841 26,100 40,741
OZsEx JH=0 66,841
= 46,789
= 6,015
= 14,037
oS ?dz 2 3,000 3,600 2600
201 er2 3| 3,000 3,600 2600
01 AtR2t2|HI 3,000 3,600 2600
OFMeSKE+as ALY A2 F
=G () 100,000 38 *102] 3,000
T ZOQEROIXIEA 86,082 101,769 15,687
< 25,825
s 60,257
308 XXM SOIH 86,082 101,769 15,687
= 25,825
= 60,257
18 SIS0t HAS A 86,082 101,769 15,687
Ok HHA=R0IXIZ A 86,082
= 25,825
o 60,257
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2 ZOH=KIA
el ZOH! XI2A (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
LEHEAMEIA ™ XA 139,200 122,400 16,800
= 97,440
S 20,880
[Ea 20,880
308 XtXIEMSO0IH 139,200 122,400 16,800
= 97,440
S 20,880
s 20,880
183 S 2S0UetE 4R ASAIE| 139,200 122,400 16,800
OYLEHEAMEIA B2 X2 139,200
= 97,440
= 20,880
[Ea 20,880
22T FAHESMEIAXE 435,173 395,338 39,835
= 304,621
= 65,276
Ea 65,276
308 AHAIEMSOIE 435,173 395,338 39,835
= 304,621
= 65,276
= 65,276
183 S| 2SS & AEAE 435,173 395,338 39,835
Og2HM =S A AXEH 435,173
= 304,621
= 65,276
s 65,276
ZESS L2 =2 18" <UL XN 119,497 0 119,497
= 83,648
== 10,755
s 25,094
308 XXM SOIH 119,497 0 119,497
= 83,648
== 10,755
o 25,094
183 SV 2SO0 & AE AL 119,497 0 119,497
Ozl LM =2t O8E 202 X
& 119,497
= 83,648
== 10,755
o 25,094
FAYE LEHHSY RS EBSHHIAXA 34,809 30,260 4,549
= 24,366
S 5,222
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2A:

X XH -
o=

SXIX2 2t
OIS KIAS

el ZOH! XI2A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 29,400
11 AMEISXAEEXS 42,000 42,000 0
OZONQIAICH Atadl2tel XI& 42,000
s 12,600
s 29,400
SSTMA=EE 28 N2 138,317 139,003 A686
307 glztol & 138,317 139,003 A\686
11 AMEISXIAEEES 138,317 139,003 686
O=SHMA==EY 2gH N 138,317
ZOHRAISXIAIR =& 3,910 3,000 910
201 er23 | 3,410 2,000 1,410
01 AtR2te|Hl 1,500 2,000 A500
OHMIARFE =578 & SESHH 500
OZ ARSI EX WA 1,000
2 Ss52g4l 1,910 0 1,910
OHUMUSES FHlSHI 1,910
203 HR=H] 500 1,000 A500
03 A=A 2= 500 1,000 2500
OZ A=K Z0F AIHHRFA 500
ZOHQ! L Atel At 925,8% 874,310 51,586
= 462,948
== 138,884
= 324,064
oL X el X (SXLRel) 186,584 168,724 17,860
= 93,292
[ 27,988
Ea 65,304
101 @124H| 178,908 161,616 17,292
= 89,454
s 26,836
s 62,618
M ORNZZ2NSE S 178,908 161,616 17,292
OZ OIS XL RelAY elAt| 178,908
= 89,454
S 26,836
o 62,618
201 et 3| 7,676 7,108 568
= 3,838
= 1,182
o 2,686
01 AtR2t2lHl 7,676 7,108 568
OFMI=XNLX2IAIY 2SI 7,676
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= 3,838
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= 295,715
= 88,714
o 207,001

101 21AH| 591,430 547,852 43,578
= 295,715
= 88,714
Ea 207,001

04 JIZtNZ2 2N S+ 591,430 547,852 43,578
OF MY =ROIAS 591,430
= 295,715
= 88,714
= 207,001

O L X2 X (AL Xt2l) 147,882 144,206 3,676
= 73,941
= 22,182
= 51,759

101 @124H| 147,882 144,206 3,676
= 73,941
[ 22,182
T 51,759

M ORIMZZ2NSE S 147,882 144,206 3,676
OFOHQ! AIZEMIZ RSl KA 147,882
= 73,941
== 22,182
o 51,759

ZOHI=XAIE K& 4,214,048 4,023,086 190,962
= 1,344,256
== 369,403
o 2,510,389

O HF=AIE 2EXE 1,907,866 1,707,118 200,748
= 1,335,506
= 171,708
o 400,652

307 @120l & 1,907,866 1,707,118 200,748
= 1,335,506
= 171,708
o 400,652

10 Al SAAEEHE 22X 1,907,866 1,707,118 200,748
O ALY =2gHl K& 1,907,866
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